et
CR 304 14 | 2H | 34 | 4H | 5A | 64 | 7H | 84 | 9H | 104 | 11H | 124
X\ & 16.2] 163 23.4| 258 26.6| 30.4| 34.8| 35.8| 32.2| 28.9| 24.4| 23.1
= & K| -1.0]| -2.7 1.6| 56| 86| 148]| 21.6| 188 16.9| 9.9| 4.8| -0.2
(O #| 59| 53| 11.4] 16.2| 19.1]| 22.6| 27.6| 28.0| 24.2| 19.1| 14.5| 10.1
BT & (mm)| 42.0 | 38.0 [ 189.5 | 102.0 | 388.5 | 359.0 | 194.5 [ 139.5 [ 491.0 | 37.0| 19.0 | 53.5
M| & = | 98.6| 98.0( 98.6[ 98.3| 98.8| 99.1| 99.9| 99.1 | 99.1| 98.6 | 98.0 | 98.3
| A K| 38.0( 25.0( 26.1| 22.4| 31.3| 43.8| 50.2| 43.0| 47.7| 44.7| 40.8| 38.0
(%)| 7 ¥ | 68.0| 67.6 | 74.0| 73.1| 78.4| 86.8| 86.8| 83.1| 88.0| 76.6| 74.0| 73.5
| dk 14.7] 20.0| 13.8| 13.5| 11.2| 145| 6.2 87| 15.5| 17.4| 15.7| 14.7
bdbs| 18.6 | 22.2| 25.7| 17.2| 14.1| 11.6| 8.2 10.2| 18.0| 25.9| 30.3| 21.9
b # | 11.0] 8.9 76| 7.2 7.1 46| 3.3 3.5 781 149 206 17.2
sk | 6.4 54| 4.3 4.7 5.1 4.1 4.0 2.5 6.7 7.3 7.7 7.6
W 49| 47| 6.5 7.8 76 83| 11.1] 10.6 751 69| 52| 5.8
] WEE| 1.4 09| 3.2 24| 36| 30| 58| 72| 45| 23| 09| 3.3
B #| 09| 06| 23 3.1 3.8 24| 45| 3.8| 3.9 1.8 0.4 1.6
MEEl 10| 09| 27| 47| 6.2 4.2 76 7.1 3.2 1.8 0.6 1.2
[E7] 1.0| 06| 3.5 7.6 781 98| 13.2| 92| 68| 26| 06| 0.9
M| 15| 06| 46| 85| 80| 85| 95| 145| 5.4 1.0 1.1 0.5
[Ezie) 0.6 1.1 4.2 571 6.4 5.4 11.1 9.7 3.2 0.2 0.9 0.9
L TErEEE| 0.3 1.1 3.0 3.2 39| 46| 40| 2.4 1.8 0.2 1.6 1.6
[if] 04| 0.5 1.3 1.2 .71 0.8 2.1 1.2 1.1 04| 09| 0.8
WEAETE] 2.0 3.4 1.2 1.9 1.5 .21 07| 04 1.0 1.9 0.9 1.2
it 78 9.6 9.2 3.4 2.7 3.1 4.2 1.7 2.3 2.0 2.9 2.2 5.3
edevE| 24.7 ] 19.2| 11.7 7.9 791 115 6.1 6.3 10.4| 11.8| 9.7 14.0
BE | % £ 1.0| 08| 09| 0.9 1.1 1.3 09| 0.6 1.0 06| 0.6 1.6
(%) Bz @ bk va| e e R b Ak s e AE s dedb )] b B |RgRgvE|AbAL B bk B b AL B Ak AL B
= B oml 202 195 22.0( 18.8| 20.3| 20.6| 21.3| 34.5| 50.0| 17.5| 14.8| 18.4
e
m)| S B 3.2 28| 3.0 2.7 24| 24| 25| 26| 23| 23| 23| 28
/7%“ % % 1,033.0 |1,028.2 [1,029.9 |1,023.9 (1,022.1 {1,018.2 {1,019.0 |1,015.2 |1,018.6 |1,024.5 |1,027.3 |1,033.4
E % 115& 999.0 999.1 992.3 999.1 (1,001.4 992.9 800.0 986.9 963.5 993.8 (1,011.7 {1,009.8
(hpa) ﬂ? i‘"}j 1,018.6 11,019.7 [1,017.8 |1,015.7 (1,012.3 {1,008.8 {1,009.7 |1,008.8 |1,011.511,015.9 |1,020.1 |1,021.4
FEE s B IR RS S
= 15 CIE W = m[iE B % | &\ W m/s|’& = hpa
53 = | % EIC 1 B B B K| = | % A | P T B ] e S R 3o | e | B K
35.8 -2.7 74.5 99.9 22.4 50.0 1,033.4 | 800.0
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17.0
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